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Question 1
Question Type: MultipleChoice

What is a feature of XML compared to other data formats?

Options: 
A- It uses tags to define the structure.

B- It uses parenthesis for key-value pairs.

C- It uses indentation to define the structure.

D- It uses namespaces for list representation.

Answer: 
A

Question 2
Question Type: MultipleChoice



A developer creates a program in which an object maintains a list of classes based on the observer pattern. The classes are dependent

on the object. Whenever the state of the object changes, it notifies the dependent classes directly through callbacks. Which advantage of

the observer pattern offers minimum dependencies and maximum flexibility between dependent objects or classes?

Options: 
A- tight coupling

B- cohesion

C- mediation

D- loose coupling

Answer: 
D

Question 3
Question Type: MultipleChoice

What is a capability of the AXL API?



Options: 
A- It signs a user in to a phone that is configured for extension mobility.

B- It pulls logs for the Cisco Tomcat service.

C- It authenticates users who exist in Cisco Unified Communications Manager.

D- It provides support for HTTP and HTTPS communications.

Answer: 
C

Question 4
Question Type: MultipleChoice

A developer is developing a web application that uses username and password to authenticate to the next service. The user credentials

must be available at any time in the application. The developer must choose and implement a secure method of storing the

authentication credentials that are used in the automation code. Which password handling method must be used to minimize the security

risk?

Options: 



A- Store the username and password in a separate configuration file.

B- Store the username and password in a vault.

C- Store the passwords in a dictionary.

D- Store the username and password in code.

Answer: 
B

Question 5
Question Type: MultipleChoice

A developer creates an application that must provide an encrypted connection or API keys. The keys will be used to communicate with a

REST API. Which command must be used for the secure connection?

Options: 
A- curl --X PUSH 'http://username.app.com/endpoint/?api_key=12345abcdef'

B- curl --v 'ftp://username.app.com/endpoint/?api_key=12345abcdef'



C- curl --X GET 'https://username.app.com/endpoint/?api_key=12345abcdef'

D- curl --X GET 'http://username.app.com/endpoint/?api_key=12345abcdef'

Answer: 
C

Question 6
Question Type: MultipleChoice

Which platform has an API that has the capability to obtain a list of vulnerable software on user devices?

Options: 
A- Cisco Advanced Malware Protection

B- Cisco Umbrella

C- Cisco Identity Services Engine

D- Cisco Firepower



Answer: 
A

Question 7
Question Type: MultipleChoice

A developer creates a new application, but the application must be tested before being released to a customer. When a mobile phone

that uses 4G is used to access the application, the request fails. Why does the connection to the application fail?

Options: 
A- The application is hosted on premises and VPN connectivity is required

B- The application must be added to the production server before testing.

C- The application must be moved to the cloud before testing is possible.

D- The application connectivity is limited to HTTPS protocol.

Answer: 
A



Question 8
Question Type: DragDrop

Drag and drop the code from the bottom onto the box where the code is missing to obtain a list of network devices by using the Cisco

Meraki API. Not all options are used.

Answer: 
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